
















  

Write the partners. 
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Write the total. 

 
 
 
 
 
 

 

Write the total. 

 
 
 
 
 
 

 

 

 



 

Write the number. 

   
 

 

  
 
 

Use the 5 group. Draw to show the number. 
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Write each number and  =  or  ≠ . 
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Circle the number that is more. 

  4  6 
  

  
 

  8  3  
 

 

Write the numbers. Start with 1. 

 

          

          

          

 

Add the numbers. 

 

  2 + 1 =   

 

  0 + 5 =   

 

 
 4 + 1 =  

 

   

  3 + 2 =   



 
Circle all the triangles. 

 
 

 

Draw to show the story problem. Write the answer. 

Sam had 2 snowballs. Tim had 3 snowballs. How many 
snowballs did they have altogether? 




